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[@3 Use the grids to solve the multiplication problems.

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

(9)

87 x67 =
X 80 7
60
7
TOTAL:
16 x25 =
X [0 6
20
5
TOTAL:
89 x 95 =
X 80 9
90
5
TOTAL:
10 x 86 =
X 10 0
80
6
TOTAL:
75x76 =
X 70 5
70
6

(10)

TOTAL:

Grid Multiplication

Date:

48 x 88 =
X 40 8
80
8
TOTAL:
31 x47 =
X 30 [
40
7
TOTAL:
72X76 =
X 70 2
70
6
TOTAL:
69 x 83 =
X 60 9
80
3
TOTAL:
97 x54 =
X 90 7
50
4
TOTAL:
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[@3 Use the grids to solve the multiplication problems.

(1)

(2)

(3)

(4)

(5)

87 x 67 = (6)
X 80 7
60 4,800 420 5,220
7 560 49 609
TOTAL: 5,829
16 x 25 = (7)
X [0 6
20 200 [20 320
5 50 30 80
TOTAL: 400
89 x 95 = (8)
X 80 9
90 7,200 810 8,010
5 400 45 445
TOTAL: 8,455
10 x 86 = (9)
X 10 0
80 800 0 800
6 60 0 60
TOTAL: 860
75x76 = (10)
X 70 5
70 4,900 350 5,250
6 420 30 450
TOTAL: 5,700

Grid Multiplication
ANSWER KEY

48 x 88 =
X 40 8
80 3,200 640 3,840
8 320 64 384
TOTAL: 4,224
31 x47 =
X 30 [
40 [,200 40 [,240
7 210 7 217
TOTAL: [ 457
72X76 =
X 70 2
70 4,900 40 5,040
6 420 12 432
TOTAL: 5472
69 x 83 =
X 60 9
80 4,800 720 5,520
3 180 27 207
TOTAL: 5,727
97 x54 =
X 90 7
50 4,500 350 4,850
4 360 28 388
TOTAL: 5,238
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